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(3)  Skinner (4)

“Emotion is the exciting state of a
person” is a concept of
(1) Piaget 2)

Woodworth
(3) Valentine 4)

Ross

The meaning of evaluation in the

academic devclopment is ,

(1) the assessment of the progress
of students.

(2) the assessment of class records.

(3) the assessmemt  of (ask-
performance. .

(4) the assessment of knowledge
power.

Prejudiced adolescent would be rigid
in his/her approach (o a

(1) problem (2)
(3) concept (4)

life style
reality

Four stages of cognitive development
— sensory molor, pre-operational,
concrete  operational and formal
operauonal is identified by

(1) Hilgard (2) Sttot

(3) Hurlock (4) Piaget

Which characteristics are not of good
mental health 7 '

(1) Regular life, emotional maturity
(2)  Self confidence, tolerance

(3) Too humble. confined to oneself

(4) Accepance of reality, self
evaluatinn sbiliny
Which of the :ollowing does not

influence Jearning ability ?

| (1) Heredity

(2) Envirenment
(3) Training Tcaching
(4) Naticnaliy

Which leaming psychologist has not
given imponance 10 Reward in the
development of child’s leaming ?
(1)  Thomdike (2) Pavlov
Guthrie


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

10.

11.

12. -

13.

14.

e F /- fow R fag &

i = wergar 77 et 2

(1) = (2) - fipkon
@ e (4). T
W—Wmﬁﬁ%m%

(1) S=¥2adas '
AY 3d6adaw ‘

(3) 7R frviraa aw

@) feviveer o

HLa & W § an} e s ot
AT i T H THE HAT TR ¥
(1) foumreen g

2 9 TREEn |

(3) IWIUEETH

(4) YvE FEEn g

(1) IwsFHsE
2) v St e @
@3) w=37

(_k)/amit

T TR W S e & _

Ty w EEtE
W e smm ¥

(2) ¥E FEER

(3) Y@ o Foe=TH
(4) I EeT FE=T R

(1) FF=9
() WG E=
(3) wiommen

e F ErET §oon o e e

TG =T STl & 2 ‘
(1) . % = SEEEAT H AR
(2) . =R V& g0g ’
(3) . R TE weRET

39w

3)

10.

11.

12.

13.

14.

P
Which of the followip d elp
in a child’s leamning ? Sl
(1) Imitation (2) Motivati

b ~ouvation -
(3) School bag (4) Reward

Self-centric stage takes
children during

(1) Birthto 2 years of age
(2) 3to6yearsof age

(3) 710 adolescence stacs
(4) adolescence Stage )

Taking  imterest to  be amongst
playmates by going out of parenis
company is associated with ’
(1) Adolescence

(2) Pre<hildhood

(3) Later childhood

(4) Infancy

;Sléc"e. gmong. :

i

First besic’ principle of isaming is
associated with

(1) Practice of work

(2) Expectation of result

(3) Appreciation

{4) Readiness

Mzking efforts to reach tae height of
menial maturity is the indication of
(1) Adolescence °

(2) Adulthood

(3) Early childhood

(4) Later childhood

The faciors nfivencing leamning
procass are

(1) maation

{Z) rraise and critcism
(31 competition

(4) ailabove -

How -is motivation usefi! \in the

learming of the child ? \ ¥
{1) Respecting individuz'izy of 1=
child

() Reward znd punishment
(3) Prase and critcism

{4) Allanove
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15. Which techmque do you not apply to
motivate students for lcammg in the

class-room ?
{H To mtabhsh ' \heahhy
" competition .- among V" the
students.
(2) To .make them feel self-
assertion. - ;
(3) To praise them too much. = ~

To .. apply - activity based
teaching-leaming methods.

@

16. What type of coir't’:_liﬁdn' has been
found between Intelligence and
Creativity ?

(1) Positive

(2) Negative
(3) Zero

(4) All above

17.  What is the most effective method to
- maintain discipline in the class ?
(1) To expel indisciplined students
from the class. ]
(2) To make teaching interesting
and practical. - - N
. (3) To . intimate guardians of
g - (4). vTo provide special facilities to
~~= indisciplined students. \_,
" T X
18. Infant child’s actions are 7
(1) instinctive
(2) protected
3

@

cognitive

emotional
|
]

19 In Which particular area teachers of

such  schools where lncluswe ¢
.education is  imparted should
r specially be trained ?

(1) TIdentification of children with .
special needs and teaching.

(2) Teaching through lecture

! method. ,."

3) Action oriented tcachm,g

(4) None of the above. i
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" constitute a social

-

Which of ‘the following groups of
children have adjustment problems ?
(1) Children of average intelligence
(2) Rural children Ny

(3) Studious children

(4) -Genius children

If the teacher feels thar one of his
students who had been leamning the
subject matter nicely is showing
stagnation. The teacher should

(1) take it as a natural stage of the
learning process.

(2) teach the subject with clanty.

(3) motivate the studext.

(4) do remedial teaching.

If a teacher wants to chaﬁge the
disposition of a student of the class,
he will haveto _____ - ¥

(1) deal with the student strictly.

(2) ask other students of ths class
to maintain non-noticezble
distance from him.

(3) change the disposition of all
‘the members of ks group.

(4) ‘motivate the student towards
studies. - .

Dcvelopmeht",ﬁ;s' ‘the same relation

with _maturity ~as stimulas has
with == Eareys S

(1) change (@) response”
@3) effot ' _(®) result

Piaget is mainly kmown for his
contribution in the field of ___

(1) language develooment
(2) cognitive development
(3) moral developm=nt
(4) social development

“Whenever two Or mmore inZividuals
come together and nfluexce one
another, they may be szid to
group.” This
statement is

(1) Partially rue

(2) ‘True N >
(3) Hardlytrue ’

(4) False

P -


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

P :
26. _Wmﬁﬁﬂmﬁmﬂ
e A T e 7

gyfamﬁg?ﬁaﬁmamﬁm

27.

28.

29.

30.

@) s i Frafiva saRed
3) Wm”tm‘mﬁmﬂ_
(4 Terr] T HEAR T

affd o ¥ HH Khc
/a-aﬁﬁsm&a?azvném%v

o wﬁmﬁmaya—m

F THAC Q@ & T IADT FRH
m%l AR
TR e H AN U WA
wmvaﬁmmw
WE |
s W ¥ i W e
IR T 3 € |
fr Rl & W 3 T W
mwaﬁya&mmtl

@)

(4) WER I

sz 4t @ wam f= § ¥ fEE

WE@WWK”

a = @ T

@) e (4) aﬁéﬁ
Wﬁmmmﬁﬁﬂan::
wafud € ?

(1) v faws

(2) S faww

of e T

(4) e fawE

+46)

26.

277

28.

29.

30.

Which of the followmg should, be
taken care.of well in the proccss of
-teaching ? =

(1) Active pamapanon of students
(2) Discipline and regular attenddnce
(3) Sincenty in checking homework
~ (4) Difficulty level of the subjcct

matter

From the followmg persons who 18

helping the child/children in hls/thmr

intrinsic motivation 7 X

(1) Father Robert gives chocolates
to students of his class who
behave properly.

(2) Nand Kumar gives story books
"~ to his son on getting promotion
to the next class.
(3) . Girjesh Kumar floats a party
5 on the birthday of his son.
Rakesh Kumar praises his sop

4)
- for securing highest-marks in

science subjects.

has special importance in '
the social development of the child.
(1) -Play
2) ’Gtuld literature
3) Daxly routine

(4) Media

Bhattia Battery is used to test which
of the following ? a
1) Personality (2) Intelligence

(3) Creativity (4) Attitude

Kohlberg’s Theory of Development
is associated with
M
(2
>(3) Moral Development
(4) Social Development

Language Development
Cognitive Development
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Candidates should answer the question
for ENGLISH as LANGUAGE < 2.

s from the following part ouly if they have opted

_ 61

(1) Sarojini Naidu. - .

(2) TouDut ° -
{3} Rabindranath Tagore
(4) John Milton -

Adjective ofBodx' 69. “The Castaway’ is a Faiiidiie slﬁft-
(1) Corporal. ™ ~ slory writen by which of th
~(2)" Bodily following atfthor 9 -
(3) Corporeal (1)  Ruskin Bond
@  Allthe above (2) Khushwant Singh
62. Asunstable as ; (3) E.V. Lucas
(D water () mule S Rabindranath Tagore
() mercury.’  (4) air 70. Choose 1€ Synonym for the
€3. Give one-word substitution ‘to the following word :
following : Derogatory
Life history of a man written by ) Resolution  (2)  Solace
himself is called ¥ Humiliating (4) Forlom
(1) Bibliography. y71.  “Poos Ki. Raat” is written by which
(2) Calligraphy famous authbr ?
3) Biography . "Munshi Premchand
) Autobiography - (2) Sarojini Naidu
64.  Change the following into ivevoice: (3)  Jai Shankar Prasad
Rita writes a letter to hixgzssvlezyday. ' . (4 RK. Laxman
(1) To him a letter was written by 72. In the given two sentences, select
Rita everyday, i . from the answer choice the word
(2) A letter was written to him by which has the same meaning and
Rita everyday. y be used in the same conte -2y the
&) thleﬂer 1s written to him by underlined part of both the sentences:
a eV % » ; .
%’ : " s \ _ () The stadium is so large that it
’ @) g_c:alsevbem )\’w;men ? letter bx : ' can seat morelhantwohlmdt_ed
65. - Chan owing Verbinto Nownz - | | Spectators: ~. ¢
il nge the following Verb into Noun : . () - Moban is willing to adust his
(1) Approving ¢ 'S:Apprbval& & -, tour programme accordingly.
(3) Approved™” gf *Approves ~ .. (2) Hold~
66. Choose the corect Figure of Speecly | . () Arrange . (8 Giveplace
in the following sentence - 73. Point out the Figure of Speech used
"Fair is foul and foul is fajy’ --.*-. inthe following sentence :
(1) Hyperbole ) Oxymoron . Integrity is the backbone of character.
(3) Metaphor  (4) Simile (1) Simile ) Meizphor
67. Which of the following was a (3) ~ Apostophe  (4)  Oxymoron
‘Nature Poet’ ? 74. Find ‘out the grammatically correct,
(1)~ Edgar Allen Poe sentence ’
William Wordsworth (1) This is the road to go.
(3) Wole Soyinka (2) Letusaimtodogood.
+ (4)  Walt Whitman - (3) Take down his a2ddress\in your
68. Name the famous poet who wrote the copy. .
following lines: = . : #) -~ Iwrote 10 him yesterday.
“Where the mind is without fear and “On his Blindn=s™ is
* the headis held high...” - A B o B fis

composed by which of the following
> .

(1) P.B.Shelley (2) JohnKeats
)] John Milton (4) Robz=tFrost
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77.

78.

- 19.

80.

81.

82.

. Find out the

pick out the incorrectly, elt word
1 Elucidate- b Exeggarate
(3) Exile (4) Exonerate;
Pick out the incorrectly spelt wprd g
( Enunciate  ( Gullible
(3) Infallible - (¢f  Instegate
Complete the  sentence with
jppropriale word :

Your handwriting should be .=,
(1) Intelligent &Y~ Intelligible
3) Intellectual  (4) Introvert

Give the proper relative Pronoun in
the following sentence -

All glitters is pot gc;l\dr'
(1) ~which w) that
(3) who | (4) whom,

.
Fihd out the appropriatc meaning of ~

thé given word :

Etymology
(1) Actof spying
(2) To free from blame

(3) , Likeness of a person
(})ﬂ .A study of the origin of words

Find out the appropriate meaning of
the given word

Inimitable

(1) Incapable of being reached

(2) Incapable of being believed

@r Incapable of being imitated-

(4) Alistof goods

Choose one word for the following
expression :
‘A lover df ppankind’
(1) Theist
(2) , Veteran
Philanthropist
(4) Omnipotent

incorrect sentenze: |
The applcs are Crown in many
different countrics. ’ !

(2) Books are cssentzl 6 a
student.
(3) Chess is a game Which requires

great patience. i
The Shamas live $at Elgin
Road. o

Q)

a0

84.

8s.

86.

87.

89.

90.

\9‘) Delay

Find out the jrffcorrect senieuce -

(1) Isthis my pen, O isityours 7
(2) We got up at dawn and had-
breakfast at eight o’clock. °
,.(2?)’ We have - a holiday =~ on

Christmas. :

Come back in an hour’s time.

4

Use thé correct form of Verb,in the ~

following sentence :
He in Allahabad for five
years. i =

(1) lives
i has been living
(3) have been living
(@) living

Choose the correct meaning 'of the
following phrase : -

- Béck and call

(1) -Cameto nothing

" Under absolute control

(3) Under all conditions «.-

(4) Torebuke o

Choose the correct Antonyms for the
following word : -
Expedite

(1) Hostile (2) Reluctant

@ Rigd

Fill in the blank with the correct
Prepositidn ;) = % or
The Judge acquitted him the
murder charge. - '
(1) off ) of

for (4) from
Fill in the blank with Past Perfect
Continuous Tense :

The doctor was very tired as he
alone. '

PESS—L

[(,1) has worked

(2)  had worked
\3Y” had been working
(4) bas been working

" Find out_thc correct word of the askedf
grammatical category of the given word TV

“Adjective of Accent”
(1! Accenuate (Y Accentual
(3) Accemuated (4) Accentuation
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(16)

W1V /PART v
) Ii‘!la !/ MATHE
91- m2x+5=21*3-+ lzﬁxwm% MAT]CS .
& -1 @-2"@)-3 @ e I"“""““““‘0“2‘”=2”3+12
Q) - @ s : & (];:valucofx is ' ‘
A T 22 — 9 4 a Fx + ‘ “l @-2:.0)-3 @) 3.
a® ym
G o Tt Ramy | e i g
W Vi
(-0 @21 @3)22 @) +3 X+ a, then the valu?ol;al?sd’VldCd =
93 14243+ +10-somrumy ) %1 @) 2 (4 3
W4 @s @i ss B Sevlieof 14243+ 4 19_spjg
(1) 4 (2v5s . (3) 10 (@) 55
M. W ii"’"‘.‘3"+5"*.7»x+.10*l 94. If the mean of the observari
9 & e i e IR NE 7.5 10 s 5, ther
; mean of the Jast i i
“(1) 10-5 [¢)) 10% (%) “l @ “3 : as t;xreeobscrl':rauons |s2
i D 105 @165 @y @ 1
95. - e . S N 'T;Q“ 4 f?’i'?;“"' . 3 ‘
m tﬂﬁii%ﬁ} ?ﬁi '{:;?i"- R B lfdxagonals, d.tjaquqd;ﬂ;‘gge!_al _bisec.tq_il
cach other at right an € itwillbea-' .
gl ey
&) s (2) wweE= (1) Rhombus (2) Trapezium
@ smm (4) gan -‘ _ (3)  Rectangle ({&) Kite .
96. Freita oot # g (-2, -3) s fu 96. In Cartesian plane, the point (-2, -3)
Afemes . lies in which quadrant ?
SF, g 8 TY
o T < ( 7 2 . ird - 4) Fourth
A wmﬁéaﬁ'mw%ﬁﬁm%a ©97. A mantravelled two fifth of his
U1 9 BRI, U e 3 3 k| journey by train, one third byb:s.me. 5
g&ﬁzﬁ?ﬁﬂ?ﬁ mﬂﬁiﬂ - fourth by carandrqnaxnmg3 km on
{1)._ 118km 2) 108 km fo. ’}’fs‘eggﬂl°fh's2‘°9.1{‘;,‘gmg*s
@ 180km (4 ‘80km- 233 180 km 8 80 km
98. x+%=5%?ﬁqﬂ+$ﬂm? 98. mevalueofﬂ+ébxx+%=5is
(1) 25 () 24 (P23 @ 20 (1) 252 24 (3)23 (4) 20
99. M= fawedi § ¥ @ @ Riwey 99. Which of the following is a factor of
(x+y))~ (2 + y) = G § 2 =y’ - (P+y)?
(1) P+y+2y 2) 2+y2_xy (1) P+y+2ay (2 X+ y2-xy
R & . 3xy (3)  xy? @ 3xy

mm&%’ﬁ?ﬂ'm / SPACE FOR ROUGH WORK.
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VL. fet s W 3ifed Her €500 ¥ 1
¥ IR 5% H @ § o R st
- 25% W™ AT § | G FH AN T €
(1) R280, . (s 3225
(3) T425¢:° T4y -T380 !
1027 Tfir 3 % 2,50,000 # v FR @

1) 32% Q) 2%
(r 208% @ 8%

103..\[248 + 52+ JId T E

M@ 12 g6 @ 13

104. s et = 0 v ey ot F

it e o & 4w R el
H 9 T ivaw fon e gt st o
(1) S () <forofew
@ S @

|05... Tt e = 16%3321,.’@:@}[@3[ |

(1 81 (P25 (318 (4)64
06T 5 TR A wRar = s sg
- 2099 ¥ | WER 7 w4l 8t W' 10
T H ¥ | T B TER 4 g

pot _ R -“— : ‘ ' it '\.\. 1
1080 0 T A & o v 34

10(?_ a

101,

() 208%

103.

M) 14 Q12

'104.

e © - . P
Thesexpression. for the number of L
diagonals that we can make from one
Vvertex of a n sided polygonis
M2+l " @) %

() s5n+2- @ n-3

The marked price of an ‘aticle is
R _5p00. The sh allows a
distount of 5% and still eams a profit
of 25%. The cost price of the article is-

(1) 7280 . Q) 225
(3) T425° @) %380
Radhika bought a car for ¥ 2,30

Next year its price decreased by 10%
and in next year it further decreased
by 12%. In the two years overall -
decrease percent in the price of car is
(1) 32% N g) 22%

T 8%

The value of \/248+ 52 + 148 is

()16 (4) 13

Suppose that the directions are
rotated so that north points to where
south-east was_ mutally. Which -

- direction does west point to ?

103.

“106.

(1) North-West (2): South-West
(3) North-East (4) East

16% of 2 number when added to 21 gives
the number itself. Find the mumber. -
(1) 81 (> 25- (3) 18 Myss

The average agé_'oflﬁ family of 5~
embers is 20 . The youngest

member is 10 years old.-What was

o - the average age of the family when
Ha‘lﬁawajaﬂmamwzﬁ? i A thcybung%:strgembcrwaSborg? '
) 10Ew (1) 10 years

2y 10 |96 e (2) 10 years 6 months

3) 12 99 6 Hel (3) 12 years 6 months

(4) 8SEy (s) 8 vears =

T% &1 & {0 S / SPACE FOR ROUGH WORK
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/ qﬁ@;qazﬁqﬁﬁ“m@ 8na?ﬂ‘fi\‘»n6ﬁ \ 107 If the circumference of a circle jis;
3 o 3 o T S B - Tg T l?ﬂcai;p]fggm 4mto 8; theﬁl 1ltsz(13reals
2) SAM™F § ; ' 2 g alve
U Wq’lj{“ %4; ot & quadruplcd 4) doubled
108. gfg yad n Wepd el & W 15 3’ 108. Ifthe mean ofﬁrst n natural numbers
AnFAAE is 15, then the valuc of n is '
1) 26 @27 (3728 u/zg () 262 27 (28 42
(09, T T FitAT N FAW Hﬁ?.‘{(* ¥ 109. Find the angle which is equal to its
T T - : - - comp]ement _
(1) 90° . @) 60° ) (1 WG @)
\S})’ 45° (4) m@aﬁgqﬁ 3) 43 (4) None of these
N % }ll’__
f“ﬁ3 4\]———c+d\ﬁ'i-',mc+d.'€ﬂ' . 110. 1 3_-\[:7 c+dA/7, then the value
Vi g . Baul o ofc+d15
. k3 =52
5 52 51 =51 (1) 0-* 2 703 0 3) 703 103 4 103’
M 103 @105 @ 103 : o
e 103 12 103 111. The value of ;
1. (\Ff+xf6) (7- V&) +200 7+ +6) (- \G) +200
‘M 201 (2) 202 30 4) 199 (l) 201 (2)‘202 3)0 (4) 199
1/3 1/4 1/6 . " 112. The lzast number among the numbers
\}Z/ '{T@HW ‘\}E (4) (5) (3) ‘C( m : ﬁ" (4)1/3’ (5)1/4’ (3)1/6
113 i3 -
M. \ﬁ S W SRR Q) @e
‘ (3) (5)]/4 . &)/Ci) 1i. () (5)|I4 (4) (3)]/6
113. ura'a@l 51324167, 3ﬁfaqm% d@red | 1 gm»ﬂ?umber 5(1132416;;1 is ?wsx}»le}lyb %
IE , A en the largest digit at the place ¢ will be
\9/8 TS @7 @9 o g LR S
ST 414. Twe natural numbers are in the ratio
\)‘(“ mf«"iﬁzéfmwﬁf ! 6 - 11, If thei L.CM. is 462, then
tne:s 1S
17 @5 ()66 \9/7 1T @S (e @7
T s A L 115. Th: sum and the difference of ages
- 115 Em Eﬁ% ' _{:’g;‘;m i j;ﬁﬁ of twa brothers are prime numot?ersg If
ehgréaﬁwz‘x B the u?c of elder oncl;s 23 years, thén
Rﬁl ac= of younger may be
Cf) 8@ P72 12y (Iy 8years (2) 12 years
b;/' 18 ad @) 21 aq (3} 18 vears (4) ?.l years

(18);:

—— %3 frr e / SPACE FOR ROUGH WORK
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116. 3R
?ﬁmmaﬁmsﬁwmmﬁmﬁm
{] 38" T) 58
B} 2:5 = {9 %2:5

117. n & faum qiies 3 w Frerae sl
T H T Y [UE § 2
(1) 3n-38 (2) Sn*+4

7 3n?+5 (4)  4n?+5

w./asra}aqa?,w‘zﬁqa;mfaw%m
e & 1 7 A A 2p W w1
24 %maasrfmmmw—iﬁﬂw

mg"

i g Tyt
A 7
N T (4). =

- \l' a -~
19. w&rmvimmgm

‘mzﬁmﬁmmam 7
azawé’(‘zrla?m%

W'«@mﬁ aarzﬁfmsz’t,:.

a

9)

- 116.

117.

118.

- (M)

11;:.

P
If sum of any two natural numbers is~ "

' 48 Then the numbexs cannot be in

the ratio

() 3:5 (2) 5:7'

3) 2:6 4) 25

For n being an odd integer™which 9{1c
of the following numbers is an even

integer ?
(1) 3n-8 ) 3n2+4
(3) 3n?+5 @) 4o +5

Kol reads 3 part of a booRin 91 baur.

1
She reads this book 23 hours. How much

part onisbookwill remain to:éd"
I 1
> @ 3
- e
) (—‘) 5 (4) 15

If - is subtracted from a number and
- -~1 2
then it is multiplied by 5 the number
=

converts into e The number is

3 1
@) 3 (2) a 3 e se ] L&
N oo M 3 i
4 3 g
G -3 @) 3 4 b i3
. R i 3 3 3 MO
120. 7 3i=1 a1 W& F AT 3 =/ 9 9 120. The sum of two digits of a number
€ | IR Wew § 27 sig RKar @@, @ consisting of two digits is 9. If 27 is
I = T o AT la‘ﬁi@l% added to the numbf:r, digits are
(1) 54 reversed. The number is
e @ 27 (1) 54 @ 2
. 4). 63 36 (3) 63 @) 36
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o)
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warauita feren / ENVIRONMENTAL EDUCATION

121. Frefefgd qREE =i & ° few ww
(1 e 2)
- T (4) TETRL
122. fwelt =1 % WENUT TR/ S A A
(1) ATP @y SIP) %
BOD (4) WPL

123. TR THEEO W B e I €
(1) ATEHES () =i
S (4) - TERA
124. wﬁwaﬁwﬁamﬁaﬂm

o g TR A &
(1) «EaE (2) ¥
@) v & 9w
125 mﬁmﬁmﬁi}aaﬁaﬁ%?
1) AEEIE oy TuEve
B s (4) IS
! g 3 B W T 0 feE T ?
(1) UoH SRTEERS
(2) ¥
(3) , FH
HeA
127. v; ietae 29 &l ©
. 1973 q gz; 1982
3) 1992 4) 1996
128, yeETA W I Fedi o FF €
a‘nso"fuﬁ%m(mm‘ﬁﬂ)nrf@éi%?
(2) @&l
(3) T Eel
(4) T AR T
129. frefaa § § fag 199 7 TF A
= A T Ui E 2
(1), TRE, . .=
W2y Aty
(3) eeEHET
B qiyed I
138, SFETVR-2011 F RN WRd |
R R R G
"wfmo;moo (23 916 : 1000,
() 920:1000  (4) 982:1000
131. h:zfm?@ﬁﬁfﬂ@m%ﬁﬁma
i 9] =T € ? ‘
(1) Ta ) Mol
(3) TRIEEEl - (4){.&;@,_\

921. Out of the following Indian Stated
¢ which\State does gnot have a;s}"
marntme boundary ?

(1) Gujarat (2) Goa

(3) Rajasthan (4) Maharashtra
The pollution level of a River is

measured :
, ?g ~ ATP 2) STP
3) BOD §4; WPL.~

The Disease that is caused by Virus is
(1) Typhod (2) Cholera
(3) Common cold (4) Malaria
The most important clement of weather
affecting agriculture in India is :
(1) Temperature (2) Humidity
(3) Wind (4) Rainfall
Which is the coldest layer of
a osghere? /
éi) hermosphere (2) Mesosgh
3)  Troposphere (4) Ionosphere
Which of the following\js a
creenhouse gas ?

(1) Sulphurdioxide

(2) Oxygen

3) . Argon

(4) Methane .
127. Project Tiger was launched in India

: 51% 197 2) 1982

3) 1992 4) 1996 .
128. The imaginary line on the Earth’s

curface which closely follows 180°

Meridian is called :
(1) Intematicnal date line
(2) Tropic of Cancer
(3
(4

Equator
Prime Mendian .

In which of the following State Gulf
of Mannar Marine National Park 1s
situated ?

(1) Gujarat !
(2} Tamil Nadu
3
(4

Andaman Island -
West Bengal
. According to Census-2011 ‘the sex-
ratio of India is : 3
(1) 940:1000  (2) 916 : 1000
(3) 920:1000 .'(4) 982:1000
 Which of the following animals is
called farmer’s friend 2~ -
(1) Anmt. (2) Earthworm
(3) Bee (4" B}x;terﬂy

122.

123.

124.

125.

126.

129.

~
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: . @D
132. W@ @ a‘aﬁé;faq farm | 132 ; - _ ¢
=TT To save environment which State |
ﬁ"*hmmi@@'?’ ' associated with ‘Chiqpl]‘mMmf-:;,'s
(1) SWwa  (2) wFwEw (1) Uttar Pradesh (2) - :
,0(3')/ SWEE .. (4) THETg - -(3) Uttarakhand - (4) m
133. STaT % HEER &1 3ngqT fRgr o ¢ : 133. Study of behavio g
; - : ur ;
() et () Fewh ';;gdf’eg;_nl: ol fukuel s
- 1ology 2) Ne
3) w (4) 3w (3) Ethology %4; -my
134. VT 1A forwet Hevagol wid & 2 * 134! Sea Weeds is the chi ;
N s e ! chief source of :
(1), =R Y (2) @i . (1) Chlorine  (2) B'“@t)(
‘(5{ FraiteT (4) wier: - (3) Iodine (4) Iron
135. 9% (S3%) £ : ‘ 135. Lichens are :
(1) wiat (1) Parasites
(2) EEA @ 2 Chen?éaulotrophs
(3) . SAvEesH : (3) Decomposers
f Wt () Symbionts
136. TS, F 367 & w9 F fpad s f136. CN.G. isused as a fuelin:
2?'?? = : B 4 (1) Vehicles
‘ el el i “(2) Industries
(2) samid ((3)) Cooking
3), ENEFAYE . ¥ . 3
(; {‘ ¥ v s ‘ (4) . Vehicles and Industries
137. 9t m 1 g 13‘7.'- Environment Awareness can be
Py crealed by : v
(1) .=&A (1) Lecture
& 8 wor (2) Field visit - .- .
(3) WW ~ (3) Group Discusion %
(@) s L (U0 smeyeann =
138. L.P.G. e dhie w1 & 2 +| <138, The abbreviation of LP.G. stanis for :
(1) w93 THy = (1) Low Paid Games . -
(2) < e TR (2) Local Passenger Gadi
Y fefaere veifaas g (3) Liguefied Petroleum Gas
() mmm (4) Local Petroleum Gas
139. g = 99T ¥ Uge R T<A e 139. Ozone. Jayer absorbs which rays
fo=ui =51 sravifyd st 9 v before réaching the Earth ? ’
(1) T fepror (2) U faol ! (1) Cammarays (2) X-rays
N AT R (4)  ter faot (3) Ulmavioletrays (4) Betarays
140. I9IRs WAl &, Wit ae - . 140. Bat is}:?:]m_amma.l, because it :
A ’ & * (1 ies
- (1) sEAE (2) R X (:)) Noctumnal
(3) YRR 3 (3} Vegetarian
.- €1 meS R (3 Givces birth to babies
141. Favaw & wfoarar )41 § 2 141. Environment is defined as :
W e vd aniteE e (1) Abiotic and Biotic ent
(2) A & Y g WawqR (2) ‘Thm'gs on the Earth below seaf
- Lo N 8. n A 12ve .
G) ST ST §HHT Ul € | (3) Things which surround us
=12 el (4) None ofthe above

(<)
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P ffen s TEnel § s 6
1. W“T?n'Uﬁ'TWﬁa%o

. UNFPA® * (2) UNDP

" (3 UNESCO (4) WHO
143. ?ﬁﬂaﬂ%%ﬂmﬁq ﬁw‘:ﬁﬁ!{!{gﬁ
O & e

(2) uwefrm dms
(@) wefm T
144, OIS AR T S

(1) e \/v@m
@)W/ (@) gy
145. faw W= fag w=m s &
(1) 2199
©(3) 25 3w
146.

~

@ 16 famm
4) s
S WA

(W 9 IR
Q) foe=
(3o T
@) IR
Tt avarod ferd & 2
(1), SEHR G

147. Brefefas § @ frg sees A ?Fsm‘m

() W&

(4) SR

148. FfafEa § == T o =0 snam=An
£2

(1) et (2" =m

@) W @
149, FF Welt ot &

(1) (" feew

@Y wae (4) dimETg
- 150, I femm em vu g 0

(1) 3wt

(3) AmEEA

@) ' AR

~

22) -

--'149. Jhum Cultivation is practised in

142. Whicb_ of the following International
Organisations 'is dedicated to the
cause of wildlife conservation ?

(1) UNFPA - (2) UNDP -.

(3) UNESCO: (4 WHO"

143. The chemical used for cloud seeding

. for artificial rain ig

(1)  Silver Nitrate

(2) - Potassium Bromide

(3) Silver Iodide

(4) Potassium Nitrate

144. Biodiesel is prepared from
(1) Utrcularia (2) Jatropha
(3) Cedar (4) Eucalyptus
145. The World Ozone Day is cclebrated on

(1) 21 March  (2) 16 September
(3) 25 April (4) 5 June

146. Silviculture is related to
(1) Forest and forest product
(2) Silk
(3) Flowers
(4) Fertilizers

147. Chandraprabha Wildlife Sanctuary is
situated in which of the following
District ?

(1) Lakhimpur Khin
(2) Chandauli

’(3)

4)

148. Which one of the following is a
secondary consumer ?

(1) .Elephant (2) Snake
(3) Lion (4) Goat

Varanasi

(1) Kerala
(3) Meghalaya

150. Dry Ice is the solid form of -
(1) Ammonia _
(2) Carbon dioxide
(3) Nitrogen
(4)  Oxygen

@)

Bihar

Lucknow A

(4) Tamil Nzdu

o it o S il ST

S W R
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